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Please make sure that the printed pages in this questmn paper are 15 in number
and it contains 34 questions. -
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The Code No. on the top of the question paper should be wr'-.:tten by the candidate
on the front page of the answer-book. -
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Before begmmng to answer a question, its Serial Number must be written.
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Don’t leave blank page/pages in your answer-book.
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- Fre

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.
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Candidates must write their Roll No. on the question paper. Except Roll No. do not

~ write anything on question paper and don't make any mark on answers of objective

type questions,
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T e 8 & o grRaT a7 & Br e 3ot 4 @ 8 mﬂff?mm;;

B'Ef ore answering the questions, ensure that you have been supplied the correct and

complete question paper, no claim in this regard, will be entertained ﬂﬁer
examination.

——

General Instructions :

(i) & 737 SIad &

All questions are compulsory. - ' " 'J '!
(ii) & F97 % ofF IEB A G 7 &
Marks of each question are indicate'd against it.

(i) 797 #HF 1 & 15 Wﬂ@%@ﬁ??}ﬂﬁ?ﬁfﬂ??l 5 a7 & forrd @ g o
FTEgieaHr 4 figd &

Question Nos. 1 to 15 are objective type questions carrying 1 mark each.

Candidate have to write the correct answer in their answer-boolk.

(fu).ﬁ??mlﬁ 4 23 7% SIG-TLANAE J97 &1 A% J97 2 3F F &1 TOF J7
FIY TTHT 30 J=] 7 o

Question Nos. 16 to 23 are very short answer type questions carrying

e

2 marks each. Answer these in about 30 words each.

(v) T FAE 24 & 31 7% TIITEE T & TOF 5T 3 o a7 & 5 go 57 g
TTHT 40 ST H G

Question Nos. 24 to 31 are short answer type questions carrying 3 marks'. "

each. Answer these in about 40 words each.
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(vl) T FH% 32 T 34 Wﬁ#aﬁmwa%mms a?#éﬁr?h HE??:'E??:!'

ST FTHT 70 wa?#‘a?fu"m

Question Nos. 32 to 34 are long answer type questions carrying 5 :marks

each. Answer these in about 70 words each.
(vii) TT-97 § oy @Y @ FE fweq T 8 au 5 it art @ g 7 aRE T
TeI7 a7 77 &1 OF yeal 7 @ ongHE dIT G & FI7 FA &

There is no overall choice. However, internal choice is given in all long
answer type questions of S marks each. You have to attempt only one of the

given choice in such questions.

(T IISF‘f)

(Objective Type Questions)

1. 2.005 % ®ef ofFH @ G ¢ : a2 :
() 2 | =4 ' (B) 3 '
(G 38 -2 I | (D) o
Number of significant figures in 2.0095 :
(A) 2 | HB) 3
(C) 4 (D) Infinite

2. CO, % AT FHIE ¥ 1
(A) 22 , (B) 38
(C) 44 | | - (D) 28
Molar mass of COz 1s :
(A) 22 (B) 38
(C) 44 (D) 28
P. To@::
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3. PreRifad Fud & @ d-a o 7@ 7

(A) 1p | (B) 2s

(C) 2p' ' . (D). 3d

Which of the following orbitals is not possible ?

(A) 1p | . -, 4ol B), 28
(C) 2p - (D) 3&d
4. ey FHied Ge (n) wRid B 1
(A) R WERPREE 2 JUERET
(C) & bes0 2o (D) Ecaed @ gA- i e

Principal quantum number represents :

(A) Shell - (B) Subshell

(C) Orbital o X (D) Orientation of the spin of electron
5. d-si dqodl & A el [aed | | | 1

(A) ns*nd™° II s o (B s DT gt

(€) ns*?nd™" D) (n-1)d" " ns’

General electronic configuration of d-block elements is :
(A) ns*nd7® | (B) (n-—1)d"10 ns®?
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6. TE-16 & T & T o @
(A) o

(B) HIehoH
(C) ad A9
(D) STH H Fi3 7R

Group-16 elements are known as :
(A) Halogens

(B) Chalcogens

(C) Noble gases

(D) None of these

7. Ficied #gef 7 § f9-91 4R agel & o oad g e 7

(A) TR STHT STIH-TH g § G g1 Bl
(B) 3 oed WM & WE-1 § e

(C) &mﬁ—aﬁmﬁﬁw@sﬁaﬂﬂ?ﬁm@%

(D) WW@F&Wﬁ'W%:ﬁ%E\@?ﬁ%l

Which of the following statements is not true for alkali metals ?
(A) These are largest in size in their respective periods.

@B) These belong to Group-1 of periodic table.

(C) These are strongest metals in their respective periods.

(D) Ionization enthalpy of these increases down the group.
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8. CoHy ¥ ST GRHIY H BT © ' RS TS 1
A)  sp? . B) sp”
(C) sp (D) sp*d

Hybrid state carbon in CoHy is :

(A) sp3 (B) sp?
(C) sp (D) sp?d
9. T % e Frae iy afvrd W A ¥ | 1
(A) AU=g+ w . (B) AU=gx w
(C) AU=-g-w | (D) AU=w-gq

Mathematical statement of first law of thermodynamics is :

(A) AU=g+ w Wn 183 0 (B) AU=g x w

(C) AU=-g-w i (D) AU=w-q
10.%*?1%%@&@@-@%%%@56%%: oy | 1

(A)  FOTHSD e | . : (B) o7

C) = i, el (D) T & &5 T

For a process to be spontaneous, AGi_'s':

(A) Negative | (B) Positive

(C) Zero it L SR (D) None of these
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11. Frafofed & & P-wr qug o s 2 g
(A) HO" (B) BClL,
©) F (D) H,0
Which of the following is not a Lewis base ?
(A) HO (B) BCL
(C) F | (D) H,O
12. SIS &R NH, 3 R ggoft oncr B | 1
(A) NH, (B) NH,'
(C) N,H, | (D) NV,

Conjugate acid for the Bronsted base NH, is :

o

(A) FNHE_ - (B) NH,

(C) N,H, (D) N,

13. grager ¥ iR Hy(g) + L (9 = 2HI (g) % T argaen fris K. 9 K, &7 =9 §

Hafved & 1
() Ks=2K- (B) K> Kp
C) K.> K, (D) Kp= K¢

In the equilibrium reaction Hy(g) + L (g) = 2HI (g) equilibrium constant K. and

K, related as :
(A) K,=2K. (B) Ko> Kp
C) K> K, (D) Kp= K¢
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- 14, K,MnO, ¥ Mn & STRIHT @A ... SRIE 4R EE R TR ST a8 R

Oxidation number of Mn in K,MnQO, 18 .......... :

15. CH,=CH-CH,-CH, Er CH.~CH=CH-CH, % : | - 1
(A) e F (B) ¥ TG
(©) b wE T (D) HegaEn
CH,=CH-CH,~CH, and CH,~CH =CH-CH, are :
(A) Chain isomers e (B) Position ISOmers
(C) F‘unc:tiﬁnal islt.}mers. (b] Metamers
CINELOREERES)

(Very Short Answer Type Questions)

16. O STUA & g9 & 93T ' - 33 2

Explain the law of multiple proportion.

17. el & e i i @ Hifkm 2

Explain Pauli Exclusion Principle.

18. STOX-19% BRI T I TEERT Hed AT 2

Explain intra-molecular lhydfagen bond with example.

19. FEN Be-H Iy g4 B, 7ufl BeH, &9 1 faga oMyt 7 &1 @@= ity 2
Explain why BeH, molecule has,z_erg dipole moment, although the Be —H bonds
are polar, .

o 2329." | - q;ggl:?




e T
F’,"-‘n-'.:.: i

F'—'.r.'n
By
L]

(9) 2329

B0, B B R et Rt 165
" T= 300 K.

i N -
SO

T A.F0 BT PR = 8.314 JK ! mol ™!,

The equilibri
_ q Hum constant for a reaction is 10. What will be the value of AG® ?
R =8.314 JK™ mol !, 7= 300 k

21. W91 2H, (g) + CO (g) = CH,0H (g) T T qa=w : 2
() H, FM w

(i) CH,OH & |

On the equilibrium of reaction 2H, (g) + CO (g) = CH,;0H (g) describe the effect
of :

() addition of H,
(i1) removal of CH,OH

22. IAFSHNRSE THEG F © 7 IaEI T 2

What is electromeric effect ? Give example.

23. YROIFHES gHE 1 ® 7 §F Samld Akl W v 2
What is Peroxide effect ? Explain giving one example.

(STeEreT )

(Short Answer Type Questions)

24, qm%@a@aﬁmﬁﬁwmﬁﬁquammﬁﬁ—w 0.040 &l
(A & f o & &9 1 @) 3

Calculate the molarity of a solution of ethanol in water in which mole fraction

of ethanol is 0.040. (assume the density of water to be one)
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25.

ot ot 7 omadt & qo Brew R e ot A ¥ 2 gw ot s o

IR BT 7 | -3

" How do atomi¢ radius vary in a period and in a group ? How do you explain

- 26,

27.

28.

thﬂ val‘iatiﬁll ? e 5

[
! I = b - : I r :'\

. g
- ; t .I.
9

SR S T oM T RIS R g e ordr @ a7 o e
T 7 SR i > - 3

Write the molecular orbital electronic configuration of O, molecule. Calculate

its bond order and indicate:-its'magnetic properties.

ffaRad &l IR i 3
@) fawdet o
(i) =< <

(i) STRIRRET # A e

Define the following terms :
(i) Extensive properties
(11) Closed system

(11 Standard enthalpy of reaction

() m%mw'ﬁmw'mﬁ%? L )

‘What do you understand by ionic-product of water ?
(b) 0.05 M Ca(OH), feeiaq & pH s i 2

Calbulatt; the pH of 0.05 M solution of Ca(OH),.
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- £ 29, f=faRed H*?

| MnO, (ag) + I'(ag) - MnO,(s) + I, (s)

Balanc ‘ on | : ; .
e the followmg €quation in basic medium by ion-electron method :

MnO, (aq) + I (ag) - MnO,(s) + L, (s)

30. ffeiad AR 3 uPAC T R - 3
B

() CHy-CH-CH,~C-OC,H.

|
OH

?gHs

(i) CH;-CH=CH-C-COOH
- |

CH,
TJOOH
(i) @
NO,

Write IUPAC names of the following compounds :

i

(i) CH3—(|7H“CHQ“C"OCEH5

OH
2H5
(i) CH,-CH=CH-C-COOH e E e *
?OOH .. -4
(i) e g b s
2329 NO, | P.T.0:
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TR, R e

COONa
() @ + NaOH —%2_,
=% .
(i) + W% HNO, — 9% Hp80s
H
(iti) +Zn —2

Complete the following reactions :

OONa
(1) + NaOH C‘EO ,
NO,
(i) i Cotie, END, ——20n0.7 el
H
(i) .

(@ SereT uw)
(Long Answer ‘f‘ype Questions)

32. (a) TEIHE Afed & S AT 7
What are drawbacks df Rutherford mcidél of atom ?
(b)Y e F o @ WO el & T e § 7

What is significance of negative sign for the energy of electron in a shell ?
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C 0 g R @ S ey & e 37 e bl

,
What does dual behaviour of electro-magnetic radiation means‘?
HYA[
OR
() Triioied = oftnfye i : o °

Define the following :
() " e g
Phc}tmeleétric effect
(ii) T F&
Wave number
(i) FHY HESD

Degenerate orbitals

(b) BfEFH A7 & S Ui FReT & qeee () 580 nm 81 IEEH SMERT (v) AR
a7 G (0) B IR ST o

Yellow light emitted from a sodium larﬁp has a wavelength (A) of 580 nm.

Calculate the frequency (b) and wave number ().

33. (a) omy A qdeer 2 RRE R FrEfe A H ECHT A IURART F OO B9 TE ? 3

How will you detect the presence of sulphur in an organic compound by

Lassaigne's test ?

2329 P. T O



(b) HRSTH THe ¥ 0.3780 g B FA ARE F 0.5740 g fRear aiEs A
g AR F FAT At oftrsrar & oFT g - 2

0.3780 g of an organic chloro compound gave 0.5740 g of silver chloride

in carius estimation. Calculate the percentage of chlorine present in

compound.
qgr
OR _
ﬂéwﬁ?amaﬂ%%?aﬁqﬁrmwwﬁaﬁﬁmaﬁﬁm 5

How are carbocations formed ? Explain their structure and stability.

34. Frffed a1 R 7ok it :
Explain the following in detail :
(a) SN SYEE ' ' >
Ozonolysis
(b) SHFHEE SfoeemaT Stfifehar @t Brafafy | 3
Mechanism of electrophilic substitution reactions
AT
OR
(a) Frr=ioRed siffsharet @ QU I | 3

() CH,-C=cH+H, 9C,

+
C] Zn, H
(1) .. CH.Cl + H,

GE] AlCl;

(i) @ + CH,COCI
2329 '
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Complete the following reactions :

i) CH,-C=cCH+H, —P2/C |

_+

i) CH,cl+H, ZuH

(iii) @ + CH,COCI Anhydrous AlCl;
(b) N F T @ waR GEwt 3 R G @I g aEg P

Draw Newman's projection for the eclipsed and staggered conformation of

ethane.
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